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(b) Prepare an extract of the statement of financial position at 30 June 2018 to show
::, the current assets section only.
O <« (3)
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(c) Explain an accounting concept that is applied when maintaining an allowance for
5 e doubtful debts.
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RE858 - Extended trial balance extract at 31 July 2018
B SR Balance Adjustments Statement of profit or
8 = loss
2 2
: gj s Debit Credit Debit Credit
5 = $ $ $ $ 5
2 :E Bank 1410
3 =
: :;: .:,'g- Equity 86 200
TS S
2 2 || Motor vehicles - cost 87 400
Motor Yehlcles - accumulated 31 600
depreciation
: Purchases 41620
: Trade payables ledger control 8743

Closing inventory — statement
of financial position

Closing inventory — statement
of profit or loss

Depreciation charge

Disposal

Drawings

(c) State two reasons why there may be a difference between the motor vehicles in
the non-current asset register and a physical inspection of the motor vehicles.

(2)

(Total for Question 2 = 21 marks)
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(i) Prepare the statement of profit or loss for the year ended 31 August 2018.
(5)
Najib
Statement of profit or loss for the year ended 31 August 2018
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(i) Prepare the appropriation account for the three-month period ended
31 March 2018.
(3)
Katie and Leo
Appropriation account for the three-month period ended 31 March 2018
(e) Discuss whether the remaining partners should continue as general partners
or form a private limited company.
You must justify your decision.
(5)
(Total for Question 4 = 18 marks)
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Nipang Ltd
Statement of cash flows for the year ended 30 June 2018
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(c) Evaluate the performance of P Ltd.

(Total for Question 5 = 22 marks)

TOTAL FOR PAPER = 100 MARKS
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